Oblique Impact

@ 3 Two smooth vertical walls stand on a smooth
horizontal surface and intersect at right angles.

A smooth sphere of mass 0.1 kg is moving in the
xy-plane such that it collides with the first wall at a
speed of (.25 ms" at an angle of 30° to the wall,
The coefficient of restitution between the sphere and
both walls is e. Given that after the first collision

the sphere is moving with speed (.23 ms™!, work out;

a the direction in which the sphere is moving (2 marks)
b the value of . (2 marks)
The sphere then moves on to collide with the second wall.

¢ Caloulate the kinetic energy of the sphere after the second collision. (6 marks)
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